

1. Пусть $p \in \mathbb{N}$ простое число.
Докажем, что $a \equiv b \pmod{p^n}$
вмывает, что $a^p \equiv b^p \pmod{p^{n+1}}$

$$a \equiv b \pmod{p^n} \Rightarrow p^n | (a - b)$$

$$a^p - b^p = (a - b) \sum_{i=0}^{p-1} a^i b^{p-1-i}$$

$$p^n | (a - b) \Rightarrow p | (a - b) \Leftrightarrow a \equiv b \pmod{p}$$

$$\sum_{i=0}^{p-1} a^i b^{p-1-i} \equiv \sum_{i=0}^{p-1} a^i a^{p-1-i} \equiv \sum_{i=0}^{p-1} a^{p-1}$$

$$\equiv p a^{p-1} \equiv 0 \pmod{p}$$

Omme $p \mid \sum_{i=0}^{p-1} a^i b^{p-1-i}$

Skagi: $p^{n+1} \mid (a - b) \sum_{i=0}^{p-1} a^i b^{p-1-i}$

$$= a^p - b^p$$

Skagi: $a^p \equiv b^p \pmod{p^{n+1}}$

